POWERWARE" 9125
2-Post Rail Kit

www.powerware.com



Powerware is a registered trademark of Powerware Corporation.

©Copyright 2000 Powerware Corporation, Raleigh, NC, USA. All rights reserved. No part of this document may be
reproduced in any way without the express written approval of Powerware Corporation.



_ II .I 1_\_1
.-I?-i :"t' |
Y

=

©
RaIL KiT INSTALLATION

The 2-post rail kit includes:

e Two rails

¢ Four truss-head 10-32 x 1/2" screws
e Two Z-brackets

e Two L-brackets
* Two PHMS 8-32 x 1/4" screws
Before installing the rail kit, you will need:

e A Phillips screwdriver
¢ Four PHMS 12-24 x 1/2" screws

Installing the UPS Rail Kit

The following steps explain how to install the UPS rail kit.

1. Attach each rail to the rack post using the four
customer-supplied screws (PHMS 12-24 x 1/2").

_» »—— Customer-Supplied Screws P r/
ﬁ (<] po
/ /] r
/
g s | v
%

Rails

000000000 O0

A0
A 9

g ol

9

o|

) o|
ol

ol

o

9

Powerware ® 9125 2-Post Rail Kit ® www.powerware.com 3



Rail Kit Installation

2. If you are using the L-bracket to secure the back of the UPS,
remove the two bottom corner screws from the UPS rear panel
and retain (see Step 4).

3. Lift the UPS and slide it into the rack.

4 Powerware ® 9125 2-Post Rail Kit ® www.powerware.com



Rail Kit Installation

4. Secure the back of the UPS to the rails with the supplied

brackets and screws.

UPS Rear Panel

(panels may vary)

UPS Rear Panel
(panels may vary)

Powerware ® 9125 2-Post Rail Kit ® www.powerware.com

/-Bracket

Tiedown Screw

removed
in Step 2

L-Bracket

Tiedown Screw

s’s o0 c®mTRTRY




Rail Kit Installation

5. Secure the front of the UPS to the rack using the supplied
truss-head screws.

The UPS is now secured in the rack.

6 Powerware ® 9125 2-Post Rail Kit ® www.powerware.com



